0002250369477999

0O HMERXE 06—e—

2015 4F BUAREHTFH0 56 1 [

1| ROEHD [ | CHTEE 280k SERN SRR, A—DEDEMEMAL TH &\,

(D) AE2ME, FEAFEBASTHEENS E2 LI HL, 2 FARTH»SGICRET I L% 5 kT TT

‘ ‘
S, bEHE ARMAEAMD MR, Th3.

r+y y+tz  z+4zx
@) =g =" =" (F0Oorz
3ty + 28 )
20z DAEIX Th.
(§i:2esis )
® 0 ® 1 © 2 © 3 ® 4
® 5 © 6 0 7 ® 8 @ 9

. o b % HEE 52 1 : N
(3) 00 <0 <180°mE %, My 2sin“6 + 3cosf + 3 D i KAEIE T, TOE %X,

ENEN
7=, B/Mil, —————— T, Thk ¥, = T .
£, M 2 tan® b3

(@2~
® 0 ® 1 © 2 O 3 ® 4
® 5 © 6 e 7 ® 8 @ 9
(4) B f(x) = (logy 2)? + logy(22)% + logex + 213, x = Dr X, B/ME — LB,
(%=
@ 0 ® 1 © 2 © 3 ® 4
® 5 © 6 e 7 ® 8 @ 9




2o—@ o>

(5) —MIEM X, =100+ 3n, Y, =50+ 2X, THEAONDHFI{X,}, {Yuh i2HULT

30
k§1<Xk —A)Y,, 2 Xk
= (2L, a=20—)

30
2 (X, — A2
k=1

DiEERDD %2 #E2 5. ZIT
Xp—A

30

2 (X, — A)?

k=1

Zp =

30
tbE, R Z, 2 HNT kglzkYk CEIBZONG. LIAN

30 30
Z o=, ZzXe=[1]
THBHDT, 5RO L35,

{

puzz

RERE )

® 0 ® 1 © 2 © 3 ® 4
® 5 @ 6 e 7 ® 8 @ 9

(6) AOABIZHWT, OA=8, AB=17, OB=6&L, TOHELE G, WEMAOHL (WL 21Ed5L,
Gl X ABD T THEZ L 2RO K DIZFEHT 5.

1

OA=a, OB=0b ¢42%, OG= (a4 +0)ThHs. £/, LAOBD 22452 ABD5K

7]
mECLddL,
so. [fla+[71b
=]

Thd. IHIZ
5. [Fla+[A]b

B 2]
Mo
< _ —atb __AB

L), Gl ABAWEATTH 2 Z LG I 7z,




o—o—

& 2eo—©

< O

©o

™ 0

XS

[ VI

©Jes)

— O

@O

S o

QO




